HW 7 – Chapter 9

Problem 6a and all of 7 from chapter 9 of the book and:

1) The seed color of wheat shows a continuous distribution from white to dark red. However, in the progeny of one selfed plant there were seven distinct classes, white and six shades of red up to dark red. Both white and dark red were at a frequency of 1/64.

 (a)What would be the most frequent phenotypic class, and what type of genotype would it be?  What is its frequency?

(b)If a plant from the class one shades lighter than the darkest red is selfed, what will be the phenotypic proportions in the progeny?

2) In a population of beetles the total variance of body weight was 130. It was estimated that the environmental variance was 35, and dominance genetic variance was 45. From these data calculate heritability in the narrow sense.

